<3 @> (rad)
o
=
(6)]

0.05]

-0.05

-0.15

o003

Rati

0.95!

3 -2 -1 0 1 2 3

TP n (PCA to beamline)

< d cot(B) >
o
[
[6)]

o
[N

o
N

LI L L L O L O L

r
¥

-2 -1 0 1 2
TP n (PCA to beamline

—— DQM_TT__mkFit-DQM_newfast132

—=— ././CMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

N
(@)

N
(@)

<0 0y, > (M)

o

............................................

=3 -2 -1 0 1 2 3

TP n (PCA: to beamline)

<op/p. > (%)

23 -2 -1 0 1 2 3

TP n (PCA- to beamline)

—

<dd,>(um

Ratiq

3
)

100

8O}
60f}

AR

...................................

....................................

0.95

-2 -1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


